N | Perimeter )
Name Class Date
a An 8-sided stop sign has sides that e What is the perimeter of =
measure 22 cm. What is the perimeter the polygon shown?
of the stop sign?
A 24m
A 44 cm B 42m -
B 88cm C 56 m 3
C 176 cm D 108m g
D 192 cm -
12m
e The perimeter of a hexagon with sides e What is the perimeter of the triangle
of 9 inches each is 56 inches. shown?
8cm
A true
B fal 4cm
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A 20in. Ry %
B 28 in. : \
P=48in.
C 33in.
; ?

D 35in

9.25

e A pentagon has a perimeter of 105 cm.
All sides of the pentagon are equal.
What is the length of each side?

A 13 cm
B 17 cm
C 20cm
D 21cm

The perimeter of this rhombus is 56 cm.
What is the length of each side?

A 10cm
B 12 cm
C 14 cm
D 16 cm

P=56cm
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a An 8-sided stop sign has sides that e What is the perimeter of —
measure 22 cm. What is the perimeter the polygon shown?
of the stop sign?
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e A pentagon has a perimeter of 105 cm.
All sides of the pentagon are equal.
What is the length of each side?

A 13 cm
B 17 cm
C 20cm
D 21cm

D

The perimeter of this rhombus is 56 cm.
What is the length of each side?

A 10cm

B 12 cm @
C 14cm P=56cm

D 16 cm
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